ERR 23 FE REHRES
1. EEXER
TR 24 F3F3NBIRE (B M)
g B g2 & RV E X £
BEEH & % BEEH & %
[(RENEE] [(RENEE]
Bne 0 XiLE 0
TEES 970,568 HHEAS 0
(BE&EE] (BE&E&]
THTEE 4,530,004 REBEAS 0
[EX£] [EX£]
LR E® 0 — AR IERKEAE 9,500,572
¥ E IERKEAE 0
BEAE 5,500,572 BESE 5,500,572
2. EREESE
ERL 23 F4818B M5 FR 24 F3B31H ET (B M)
E= A 1Y
BEEH & % BEEH & %
[—H=3Et] [—H=3Et]
— i EEE 33,800 SEINA 1,268,000
EEXESRE 197,001 EENRAEULA 0
R R MBI E 211,995 HHEINA 0
ENVESIRRE 0 ZDHDIRA 41
EHEEEILS 100,000 EHATEEEARUA 0
BAlSET~DRAL 0 ATHAE SR A 245,323
(4% 51&5] [4F51=5t]
BAEEXE 0 —BEHHILDBEAE 0
OO=Ex%E 0 FAEULA 0
MUTA 0
[BIR£E]
REFIEHE 970,568
EHEE 1,513,364 RIS & ET 1,513,364




3. MXERERRE

(Bfr: M)
— RS DER TE& REEE = =B ES
IR A DER
EXTI9N 1,272,000 1,268,000 A 4000 317 A
EERAEIRA 0 0 0
FAEIA 0 0 0
S EH EURA 57 41 A 16
HMEUNA 0 0 0
TEIATEE AR A 0 0 0
AR EIRA 245323 245,323 0
IRAEET 1,517,380 1,513,364 A 4016
FTHDER
ma%iﬁ 10,000 5,158 4842\
REXBEEXH 0 0 0
BEEREXH 10,000 6,500 3,500[81F ., [FA'E
BELEXH 60,000 22,142 37,8587 BA2 %
ERBAEXE 0 0 0
EIEXH 0 0 0
EEITSREXH 220,000 197,001 22999|ZEFE T+ LA
SRR E B R X 1,000,000 211,995 788,005 |FFEE 1%
BN EE R EXTH 0 0 0
FEEXE 57,380 0 57,380
X H 60,000 0 60,000
EHAESHEILIE X H 100,000 100,000 0
BRS~DEALSTH 0 0 0
< &5 1,517,380 542,796 974,584
—RESEHINT EEE 0 970,568 970,568
HRl ST DER YEZ REZE = =2 B =
N A DER
—REEHIODREAE 0 0 0
FAEIA 0 0 0
HMULA 0 0 0
IRAEE 0 0 0
THEDE
EEEESTY 0 0 0
[OJOEXE T3 0 0 0
> HEE 0 0 0
BAlSETINEZ E%E 0 0 0
| L HR RN T = 2R | 970,568 REE—fEREr~EE |

SAIEE2FKIZELY. LEDESYIHRELV=LET,
ER 24 & 3 A 31 BH

FEEIHRALESEFREARS
=K WA

SHEEHE

RAECIRICKYERLRICRHDEEREZTo-HER. REOEBITICETS
*IE@‘FJ’%EL(MQAE'JI&L&?éik&%%(iﬁb\tnu&) EXHRETOAREG
EERETHY. REBHIIMIZDRREHEICRTELTNDLDERDET,

FEEITHRAILESSZEREAES
ox 1 /5 A7 mn
EE ?ﬂ;ﬁﬁ- x.



